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#include<stdio.h>
#include<conio.h>
main()

int B, H, area;

printf("Enter the Base=");
scanf(“%d", &B);

printf(“n Enter the Height=");
scanf(“%d", &H);

area =0.5*%B*H;

printf("\n Area of Triangle=%d", area);
getch();
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Enter the Base=5
Enter the Height=6
Area of Triangle=15
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#include<stdio.h>
#include<conio.h>#include<math.h>main (
){float a,b,c,s,area;printf ("ENTER THE FIRST
ARM= ");scanf (“%f",&a);printf("\nENTER THE
SECOND ARM= “);scanf (“%f”, &b);printf
("\nENTER THE THIRD ARM= ");scanf (“%f", &c);s
= (a+b+c)/2;area = sqrt(s*(s - a)*(s - b)*(s -
c));printf("\nAREA OF TRIANGLE = %f",
area);getch ( );}

ENTER THE FIRST ARM=3ENTER THE SECOND
ARM=5ENTER THE THIRD ARM=6AREA OF TRIAN-
GLE=7.483315
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#include<stdio.h>
#include<conio.h>
main( )

{

int A,B,C;

printf("Enter three numbers:”);
scanf(*%d %d %d", &A, &B, &C);
if (A >B)&&(A>0C))

printf(*\n Largest Value =%d", A);
else if ((B > A) && (B > C))
printf(*\n Largest Value =%d", B);
else

printf(*\n Largest Value =%d", C);
getch ();

}
Rt

Enter three numbers: 457 ¢
Largest Value = 7 &
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